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Page 47 activity 8.7 reported 25/01/23 

The task should refer to the price index rather than the cost index. 

 

Page 74 answer to 8.10 reported 25/01/23 

3rd paragraph, the first sentence should read: Product A has a 70% chance of generating a profit of 

£550,000 or more, with a maximum possible profit of £800,000. (ie 80% rather than 70%) 

 

Page 104 task 6(a) reported 21/12/23 

Each of the columns should be headed with £ rather than £'000 

 

Page 104 answer to task 6(a) reported 21/12/23 

Each of the columns should be headed with £ rather than £'000 

 


